Installation Instructions Part Numbers:
VOLKSWAGEN JETTA WAGON 60984

Do Not Exceed Lower of Towing Vehicle

Manufacturer’s Rating or
. Max Gross Max Tongue
Equipment Required: Fiteh type Trailer WT (LB) WT B
Fastener Kit: F60984 Weight Distributing Not For Use With Spring Bars
Wrenches: 3/4”, 11/16”. 5/8” ng‘l‘l‘ﬁm;"g 2,000 (908 Kg) 200 (90.8 Kg)
Drill Bits: 1/2”

@ Wiring Access Location: PC3, PC4

O, &)@

| <
Q) T Truni
Floor

@)
()
4\
(0)) Qty. (2) | Carriage bolt 7/16-14 x 1-1/2" GR5 \L-'t@ Qty. (2) | Carriage bolt 1/2-13 x 1-3/4" GRS
@ | aty.(2 | Hexnut 7116 @ | aty. @ | Hexnut1/2"
(€) Qty. (1) | Hex bolt 7/16-14 x 1-1/2" GR5 ® Qty. (1) | Lock washer 1/2"
@ | aty.3) | Lock washer 7/16" © | aty. (1) | Conical washer 1/2"
® | aty. (1) | Flatwasher 7/16"
A Qty. (1) | Hitch assembly E Qty. (1) | Reinforcing plate 1 x 6"
B | Qty. (1) | Drawbar F Qty. (1) | Nutplate
C Qty. (1) Pull pin G Qty. (2) Reinforcing plate 1-1/2 x 2-1/2"
D Qty. (1) | Pinclip H Qty. (1) | Spacerix2"
INSTRUCTIONS:

. Remove plastic storage tray from trunk.

. Insent nut plate (F) into vehicle’s tie down bracket small end first with weld nuts upward.

. Hold hitch in position and install rearmost hex bolt (3) in passenger side bracket as shown in illustration. Tighten bolt snug to hold hitch in position.
. Adjust hitch aligning it with rear of vehicle.

. Using the three holes in driver side bracket as a drill guide, drill three 1/2" diameter holes through tnmk floor and tire well.

. Place reinforcing plates (E & G) inside trunk, install carriage bolts and hardware. Refer to illustration.

. Remove nut plate (F).

. Using forward hole in passenger side bracket as a drill guide, drill a 172" diameter hole through the tic down bracket.

9. Reinstall nut plate and remaining hardware.

10. Tighten 7/16" bolts to 54ft.1bs and 1/2" bolts to 72ft.Ibs

11. Place drawbar (B) into hitch assembly (A) and insert pull pin (C) into end of drawbar (B). Use pin clip (D) to hold pull pin (C) in place.

Tighten all 7/16-14 GR5 fasteners with torque wrench to 36 Lb.-Ft. (49 N*M)

) Tighten all Y2-13 GRS fasteners with torque wrench to 75 Lb.-Ft. (102 N*M)
Note: check hitch frequently, making sure all fasteners and ball are properly tightened. If hitch is removed, plug all holes in trunk pan or other body panels to
revent entry of water and exhaust fumes. A hitch or ball which has been damaged should be removed and replaced. Observe safety precautions when working
gcncalh a vehicle and wear eye protection. Do not cut access or attachment holes with a torch.

This product complies with safety specifications and requirements for connecting devices and towing systems of the state of New York, V.E.S.C. Regulation V-5

L R Y e N S

and SAE J684.

z 2005, 2007 Cequent Towing Products — Printed in Mexico Sheet 1 of 2 N60984, N77094, N24717 | . _08-27-07 . Rev. B

Form: F205 Rev A 5-6-05




